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N = 0l & At & Ml A

20209 = =20l & e &

A= =gl 2M =gl 20IIHF2 N
M 2AuIYHEI LY (sl Y/ - 55)
SR B SIES EEREED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
sg8)=& AoIIAFRD 3,061,261 2,898,188 163,073
2 702,235
= 165,000
T 2,194,026
AoFLEAD) 2L (sHNL$ b/ s - &) 2,971,345 2,871,974 99,371
= 702,235
s 165,000
T 2,104,110
SO =R 1,602,639 1,759, 148 A 156,509
= 165,000
= 1,437,639
MAAEATR 272,873 539,584 N266,711
101 2124 d| 146,973 198,684 AN VAR
4 J|2tH 22 NHEE 146,973 198,684 AN VAR
OMAAIEAZTHHI I 2 68,720& *4H 210 57,725
OMas2H3202 68,7203 x2H 200 27,488
CJOFS CHXH A THHH o1 2 &) 68,7203 x2H 200 27,488
ImESE]! 6,000 *x8H 226 10,848
[pmE=—s]| 3,000 x8Y 226 5,424
O4 2 18,000
201 et A bl 53,000 86,000 A 33,000
01 AFR 2t 2l Yl 8,000 11,000 A 3,000
Ogset=gH| 8,000
Odttx=5 S 3,000
OsMHMHEIIZ=+8S 2,000
O RZUNE RS 3,000
02 3524l 45,000 75,000 A 30,000
O 24| 5,000
OMAAIE 24 AZHI 5,000
A& & HI S Xl H] 40,000
OMa=24aLHH = Al 40,000
203 LR =&lY| 2,900 2,900 0
03 AIHZ=X SR =AH| 2,900 2,900 0
OJAIEARLERFA 2,900
207 A IR H] 50,000 60,000 A 10,000
03 A& Y| 50,000 60,000 A 10,000
O XMHAAZXMYLI 2 32,000
OESEHAR2NMEHZ 18,000
405 XHaHF SHI 20,000 0 20,000
01 Mt =S F SHI 20,000 0 20,000
OMAasgE22E|72e 20,000
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01 AFR2 2t 2l Yl 2,000 5,000 A 3,000
Oget=gH| 2,000
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02 35244l 30,000 40,000 A 10,000
O ZH| 10,000
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O A& & Bl X8I 20,000
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207 Ao Y| 45,000 40,000 5,000
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01 AP 2t 2l Yl 21,500 28,000 A6,500
Odget=g| 21,500
OsHMHHIISE=E=2 S 1,500
ORI HUESHEE UK 20,000
02 33249l 20,000 28,000 A 8,000
A& &H|l R AlH]| 10,000
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40 5 4

P sgllsd

CEMIgH s (sEHM YN/ s - s E)

RSN

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
oogy 68,720& x2H %130 17,868
O A 6,000& 2% 110 1,320
OunEH| 3,000& 2 *110L 660
[@ZAN =R 2,000
207 Ao Y| 17,000 20,000 A 3,000
03 A& FH| 17,000 20,000 A 3,000
O UASHLANENHEL = 9,000
OUMUSsIHASAIE 8,000
FoES2II=oHe 254,478 318,180 63,702
101 2124 d| 154,278 179,680 A 25,402
04 J|2tH 22 NHEE 154,278 179,680 N 25,402
OAWSIASESEZHAUEY 68,720 x6H 180 74,218
XM LU RH QA2
68,7203 *4H 180 49,479
ImESE! 6,000& 10 x 155 9,300
[pmE=—s]| 3,000& 109 x155< 4,650
O42E 16,631
201 et A | 53,200 76,500 A 23,300
01 AFR 2t 2l dl 4,200 7,500 A 3,300
O get==H| 4,200
O3S 4,200
02 3524l 49,000 69,000 A 20,000
O 24| 40,000
OJUWERAR2AAZHI 40,000
O A& &HlI S Xl H] 9,000
ORNEZAEALAEHH =X b 9,000
207 AT OH £ | 47,000 51,000 A 4,000
03 A& FH| 47,000 51,000 A 4,000
OANSQAEAR2NNE M E 18,000
OZFXHBHLANEARAINNE N S 20,000
OSYREESLSAEZ UM 9,000
Ot S CHIt==THHH H + 106,067 44,220 61,847
101 @121 27,067 28,220 A 1,153
04 JI2ZtH 22 XNHEE =+ 27,067 28,220 A 1,153
[JOFZ CH 2k == XH BH 27,067
ool 68,7203 *2H x160 21,991
O Al H| 6,000& x2% »132 1,584
[@FnE=3:]| 3,000 *x2H x132 792
(@F N B=k=] 2,700
207 A T OH ] 9,000 10,000 A 1,000
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OlESII=HY

AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
03 Al & 11HI 9,000 10,000 A 1,000
OOSEUHU=+HIAITME M= 9,000
405 TtabF S| 70,000 0 70,000
01 AL EFFH S 70,000 0 70,000
O E =242 2 70,000
NEARD LS 130,000 80,000 50,000
s 65,000
< 65,000
405 THebH S| 130,000 80,000 50,000
s 65,000
< 65,000
01 AL 2 S FH S| 130,000 80,000 50,000
OMA2MeX+2HEH(DSEEY) 30,000
ras 15,000
< 15,000
Oasothet e (#S3Y) 50,000
s 25,000
< 25,000
OOrE I At Z2=TH(REEY) 50,000
as 25,000
< 25,000
NHEES ARSI =L 100,000 100,000 0
s 100,000
101 @144 dl 54,954 46,700 8,254
s 54,954
04 JIZtHZ2XREES 54,954 46,700 8,254
Oxazed2d(dsSsY)
68,7203 *4H «170 46,730
s 46,730
OAME(Z#SEY) 6,000 *4H %1702 4,080
s 4,080
OuSH(ZESY) 3,000 x4H 170 2,040
s 2,040
4= (2ss) 2,104
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N & O & AF Y A9 N A
20209 & =20l & LS H M A
A= =gl 2M sglI=d J=E3
HE: SIS WAL (SHHSLN/5Y - 55)
SR AMSFNSMAIIEX (&2 &)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
sgl=% Jls23 22,074,852 20,523,894 1,550,958
= 9,631,250
hag 1,250,000
J| 61,030
& 11,132,572

sl |=dYyeEUG (SN LM /s - &) 21,995,600 20,517,294 1,478,306
= 9,631,250
rag 1,250,000
Dl 61,030
& 11,053,320

A2k XS M A BEX & 6,444,680 4,964,994 1,479,686
=2 5,233,750
J| 61,030
& 1,149,900

sHAD|sAE(sMHEEEDN3EI=) 215,000 100,000 115,000
= 215,000

403 XX S M S K201 A 215,000 100,000 115,000
= 215,000

01 AXHXMAHESE = 215,000 100,000 115,000
OsisEdingsls 215,000
= 215,000

SHAD|=AIH (2EAHD =) 160,000 240,000 A 80,000
= 160,000

403 XXM S K201 A 160,000 240,000 A 80,000
= 160,000

01 HXHNMAHEE = 160,000 240,000 A 80,000
OxstAI = 160,000
= 160,000

ST EAIE (YA BAIIS) 389,500 485,000 ~95,500
2 389,500

403 XX S M S X201 A 389,500 485,000 A 95,500
= 389,500

01 MXHHAEBE = 389,500 485,000 A 95,500
OMAHIEAD| = 389,500
= 389,500

SHAIIsAE (RS EMLII=) 200,000 839, 000 A 639,000
= 200,000

403 XX S M S K201 A 200,000 839, 000 A 639,000
= 200,000

01 XIS AE2E X 200,000 839, 000 A 639,000
OXN2EMAI= 200,000
= 200,000

SANI SN (ESLEINLIIZ) 50,000 67,500 A 17,500
2 50,000
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403 UHXSHHSA=0l& 50,000 67,500 A 17,500
= 50,000
01 HXHMA=LE X 50,000 67,500 A 17,500
OELd==ZM&I|= 50,000
= 50,000
s SAIE (HEHHNS 152,500 205,000 252,500
= 152,500
403 XSS A0l & 152,500 205,000 A 52,500
= 152,500
01 XM A=2EE 152,500 205,000 A 52,500
OJEgga=2a0l 152,500
= 152,500
s =LEEHEFL2Y 30,000 50,000 20,000
= 15,000
< 15,000
201 2et24d] 16,000 20,000 A 4,000
= 8,000
< 8,000
01 At 2teltl 16,000 20,000 A 4,000
Ogst=2tl 16,000
OZEEgdESUSIs RN RS 16,000
= 8,000
< 8,000
202 44l 8,000 12,000 A 4,000
= 4,000
< 4,000
01 S LHOIYI 8,000 12,000 A4,000
O=sgddssd=sglls 8,000
= 4,000
< 4,000
206 T 24 6,000 3,000 3,000
2 3,000
< 3,000
01 M= 4l 6,000 3,000 3,000
OEdAHSSHEA 6,000
= 3,000
= 3,000
s =sHHESHZEER2E 287,500 332,000 A 44,500
= 287,500
308 XXM SOIA 287,500 332,000 A 44,500
= 287,500
01 IXNHHBANEES 287,500 332,000 A 44 500
D429 287,500
= 287,500
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sHSHHSLHLI X 2,461,000 346,000 2,115,000
= 2,461,000
308 AHAIEHHSOIA 2,461,000 346,000 2,115,000
= 2,461,000
01 HXNHHBHELS 2,461,000 346,000 2,115,000
Osasddis2 MOl X 2,461,000
= 2,461,000
HolSHEZIHARLIR(T) 16,000 18,000 A2,000
2 8,000
< 8,000
201 Let24E] 8,000 4,000 4,000
2 4,000
< 4,000
01 At 22l 8,000 4,000 4,000
Oger==&H| 8,000
OEis2HNIEINEZRAUS 8,000
=2 4,000
< 4,000
202 Oddl 4,000 4,000 0
= 2,000
< 2,000
01 = LH o4 1l 4,000 4,000 0
Ogoi S0l Z 0l 4,000
= 2,000
< 2,000
206 = Hl 4,000 2,000 2,000
= 2,000
< 2,000
01 MHZ 4l 4,000 2,000 2,000
D8dsdtE4NMELS 4,000
= 2,000
= 2,000
HHSHRENSA SN (AZ) 202,000 202,000 0
= 202,000
308 A EHHSOIA 202,000 202,000 0
= 202,000
01 IXNHHBHEELS 202,000 202,000 0
OYoisHZ2EZSGA2ARA 202,000
= 202,000
SHSHHSAEEI2I X 53,250 53,250 0
= 53,250
308 XXM SOl A 53,250 53,250 0
= 53,250
01 IXNHHBNEES 53,250 53,250 0
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A= sl FM s’ JzsE2S
HE: SIS WAL (SHHSLN/5Y - 55)
ol AZES YA R CER-ED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OsHeEsdids=s2gd (%) 100,000
OsXsSdsddEss2I XA (AT) 300,000
403 UHXSHHSA=0l& 126,000 180,000 254,000
01 X SHHM U422 L 126,000 180,000 A54,000
ORleSES1192 M2 126,000
LAEHSMI=ES 15,550,920 15,552,300 A1,380
= 4,397,500
as 1,250,000
=) 9,903,420
s SAY (A EsFAS M=) 380,000 115,000 265,000
= 380,000
403 UtXSHHSA=0l& 380,000 115,000 265,000
= 380,000
01 HIXSHMA2E X 380,000 115,000 265,000
OdsSMSMEMII= 380,000
= 380,000
s SAY (MMaFSUHII=) 100,000 245,000 A 145,000
= 100,000
403 MHXISHE X201 E 100,000 245,000 A 145,000
= 100,000
01 X SHHN2E = 100,000 245,000 A 145,000
OMASSHII= 100,000
= 100,000
sHAISAIE(ICTEED=) 867,500 510,000 357,500
= 867,500
403 A X EHHS 20l A 867,500 510,000 357,500
= 867,500
01 X EHHMA=LE L 867,500 510,000 357,500
gicTa8ll=s 867,500
= 867,500
S SAE (M ASASUIIE) 390,000 155,000 235,000
= 390,000
403 MHXSHHSA=0l& 390,000 155,000 235,000
= 390,000
01 HXSHMA2E X 390,000 155,000 235,000
OdAasSaetill=s 390,000
= 390,000
sgAIsANYE(SA=sLII=) 60,000 15,000 45,000
= 60,000
403 MtXISHHE X201 & 60,000 15,000 45,000
= 60,000
01 XM A=2EE 60,000 15,000 45,000




A= sl 2M s8I d =
HE: SIS WAL (SHHSLN/5Y - 55)
gl ASHASMII=ES (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OZANsglI= 60,000
= 60,000
sHAIsANY (=EES324HIs) 155,000 50,000 105,000
= 155,000
403 MtXISHHE X201 E 155,000 50,000 105,000
= 155,000
01 XM A2 X 155,000 50,000 105,000
=ESILHI= 155,000
= 155,000
sdAIISAY(ZEEIEZIIE) 150,000 315,000 A 165,000
= 150,000
403 A X EHS =0l A 150,000 315,000 A165,000
= 150,000
01 X HHMA=E L 150,000 315,000 A 165,000
O2EEIEZ )= 150,000
= 150,000
S SANE (sHSEANZBSEIN=NA) 454,000 414,000 40,000
= 454,000
403 UHXSHHSA=0l& 454,000 414,000 40,000
= 454,000
01 HXSHMA2E X 454,000 414,000 40,000
OsgactaiZ2seI=X& 454,000
= 454,000
SSE=sARIANS L (F4A) 8,000 8,000 0
= 4,000
< 4,000
201 Lt 3,000 3,000 0
= 1,500
< 1,500
01 At 22l I 3,000 3,000 0
pt=2Hl 3,000
O=gouEIMRAS 3,000
= 1,500
< 1,500
301 LEEAZ 5,000 5,000 0
= 2,500
< 2,500
09 HALAHIXI &3 5,000 5,000 0
Essdeldslussal 5,000
= 2,500
< 2,500
NEsEXNCALSHSIE (HEAY) 7,664,000 10,404,000 A2,740,000
403 MHXISHE X201 H 7,664,000 10,404,000 A 2,740,000




A= sl FM s’ JzsE2S
HE: SIS WAL (SHHSLN/5Y - 55)
©9: ASHSNIIEES (29l & 2)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 HXSHMA2E X 7,664,000 10,404,000 A2,740,000
OXgesdsmsI|Igxy 7,664,000
IIEAECHE D= 148,920 72,000 76,920
403 MtXISHHE X201 & 148,920 72,000 76,920
01 XM A=2EE 148,920 72,000 76,920
ODSHEI)sEsTUMIIsAY 96,000
O E=sAdY 52,920
Do AEs S 372,000 196,500 175,500
308 XAHXIEHHSOIA 10,500 31,500 A 21,000
01 HIXNHHBNEES 10,500 31,500 A 21,000
OPLSHEXSHIBEERE?MZIIESAY 10,500
403 MtXISH S X201 & 361,500 165,000 196,500
01 X SHHAN2E = 361,500 165,000 196,500
O2USdU=SANI2HMMHARSAIE 120,000
OZ=0IcHE2=SE MU TZLEAE 52,500
ORYUOISHAZSTHEAIE 189,000
HAMH E DS E LA M A 21,000 75,000 254,000
403 XIS E X201 & 21,000 75,000 254,000
01 AXSHMA2E = 21,000 75,000 A 54,000
OSct20II=s0lSsdSUEAMEAIE 21,000
NEEZESHS M 494,700 908,800 A 414,100
403 UHXSHHSA=0l& 494,700 908,800 A 414,100
01 HXHMA=E X 494,700 908,800 A 414,100
OAmel 3 SMII=Al g 14,700
OXNSEStAHAS 480,000
MERAM =2 35,000 68,000 A 33,000
201 Let24d] 2,000 17,000 A 15,000
01 At 22l 2,000 2,000 0
Ogpt=2H] 2,000
OdgdNna2ds 2,000
301 LeEA S 3,000 9,000 A 6,000
09 HALAHIXI &3 3,000 3,000 0
OMsnstaals 3,000
308 A EHHSOIA 30,000 42,000 A 12,000
01 HXNHHBHEELS 30,000 42,000 A 12,000
OMEA0IIsL = 30,000
ASESI=ES 28,000 57,500 A 29,500
201 Zet24E] 21,000 31,500 A 10,500
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